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Maths Genie Stage 7

Test C

Instructions

» Use black ink or ball-point pen.
» Answer all questions.
« Answer the questions in the spaces provided
— there may be more space than you need.
« Diagrams are NOT accurately drawn, unless otherwise |nd|cated
« You must show all your working out.
- Calculators may be used.

Information

- The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
« Read each question carefuily before you start to answer it.
- Keep an eye on the time.

- Try to answer every question.
« Check your answers if you have time at the end

mathsgenie.co.uk
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1 Write down the inequality shown on the number line.

1 for -4 and 3

(Total for Question 1 is 2 marks)

2 The nth term of a sequence is n*> + 3
(a) Find the first two terms of this sequence.
()" *t3 = 4
(2) rs =7

(b) Is 33 a term in this sequence. (1
You must show how you get your answer.
/1 z +35 = 33
2 =
n- =30 =30
Mo (30 0s et a . wioo €. sertols . S
: )
(Total for Question 2 is 2 marks)
3 The table shows the probabilities that a biased dice will land on 1, on 2, on 3, on 5 and on 6.
Number 1 2 3 4 5 6
Probability 0.11 0.1 0.18 C. 27/' 0.15 0.22 !

The dice is rolled 200 times. |

Work out an estimate for the number of times the dice will land on 2 or on 4.

0./ +o-/ +to0./8F o0 /5 O 22 =09 74

/| — - 7& = O 2 1 for 0.24
O.)] + o 2 = o. 3 1 for "0.34"x200
~ = X P
0. 3¢ x 200 /é-—: é S/

\ (Total for Question 3 is 3 marks)/
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1 for -4 and 3
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Typewriter
1 for 0.24
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Typewriter
1 for "0.34"x200


-

4 The table shows information about the number of points scored in a game.

Work out the mean number of points per game.

Points Frequency
0 X 9 O
1 X 11 I/
2 % 18 3¢
3 X 7 21
4 X 4 ) 6
5 F 1 )
_— i
50 37

g 9
—_ 1 for points x frequency
50
1 for "89"/"50"
178
(Total for Question 4 is 3 marks)
A
5 ABC is an isosceles triangle.
Calculate the perpendicular height of ABC.
Give your answer correct to 3 significant figures..
14 cm
U =
] C ! B
Y. s 9cm
2
2 i i i
4. 5 z 4 - 14 1 for correct substitution into formula
2 2
X 2 = /;‘ - (71’ 5
2
x = \(/‘/z -¢.5 1 for correct rearrangement
= 13:3 em

.........................................

(Total for Question 5 is 3 marks)

/
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1 for correct rearrangement


/

6

The diagram shows a cuboid.

Find the total surface area of the cuboid.
4 cm
| 6 cm
11 cm
Front 1 x4y = %ycm
o 2
Back = Y4 em
2
Top Jix & = £6 cm
: 2
goﬁom o = éé «m
2z
Siole 4 & & = 2% em
' ) 2
S A+ = Z‘f,("m
I

248 cm

1 for addition of 6 surfaces

1 for cm?

..........................................................

(Total for Question 6 is 3 marks)
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Typewriter
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Adam has some marbles. 2C
Bradley has three times as many marbles are Adam. 2 b &
Chris has 6 more marbles than Bradley.

Sx + 6
In total they have 48 marbles.
How many marbles does Chris have?
X + 3x + Sz + &6 = ¢ &

795 ‘/’( — (fg 1 for 7x + 6 = 48
7x = 4‘2

1 for 6
Ciaris 3(é) + 6 = 2%
24

(Total for Question 7 is 3 marks)

Greg bought a new car for £15 000.
In the first year the value of the car depreciates by 25%.
In the second year and the third year the car depreciates by 12%

Work out the value of the car after three years.

2
/5000 X 0. 75 x 088 = £ 8712

1 for 11250 or 15000 x 0.75
1 for taking 12% from ANS twice or ANS x 0.88%

(Total for Question 8 is 3 marks)

/
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A solid cylinder is cut in half to form a semi-cylinder with a radius of 12 cm and a length of 50 cm.

50cm

Work out the volume of the semi-cylinder.
Give your answer correct to 3 significant figures.

A _Z , 1 for area of circle or semicircle
volume = 777 x h
/f; 452.39 or 226.19

2z
= 77 [/2) x S0 1 for "226.19" x 50
2 or ("452.39" x 50)/2
s

--------------------------------------------------

(Total for Question 9 is 3 marks)
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